STUDENT VERSION

THE MISSOURI COMPROMISE - A PRIMARY SOURCE ANALYSIS

Activity ltem

The following item is part of this activity and appears at the end of this student version.

« Jtem 1: 1820 Census Tables

Student Learning Objectives

I will be able to use a primary source to understand a historical event.
« | will be able to read and interpret tables of data from the 1820 Census.

« | will be able to explain the relationship between the Missouri Compromise and 1820 Census data for
Maine and Missouri.
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NAME: DATE:

1.

In February 1820, the U.S. Congress faced a difficult challenge concerning the regulation of slavery. The
pro-slavery and anti-slavery factions in Congress were intensely divided on whether to admit the Missouri
territory as a state that allowed slavery or as a state that forbade it. At the time, equal numbers of states
(11) permitted and prohibited slavery, so many Americans feared upsetting the balance of “free states”
and “slave states.”

Why was maintaining the balance between free and slave states in the Senate so important? Why did
people fear either a majority of free states or a majority of slave states?

In March 1820, Congress reached a compromise on the issue by admitting Missouri as a slave state while
also admitting Maine (which had been part of Massachusetts) as a free state. The decision also included
an amendment that forbade slavery in all U.S. land north of the 36°30" parallel — except for land in
Missouri. This legislation became known as the Missouri Compromise, but it was temporary. Why didn't
the Missouri Compromise last?

3. Use Item 1: 1820 Census Tables to answer the following questions and prompts.

a. What information is presented in the tables? Be as specific as you can, providing examples where
appropriate.

b. The 1820 Census began approximately six months after Congress passed the Missouri Compromise.
Looking at the 1820 Census data for the newly formed states of Maine and Missouri, what evidence
do you see of this decision?
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c. Between Maine and Missouri, which state had the greater number of “free colored persons,” and does
this make sense in historical context? Why or why not?

d. Look at the final column, labeled “Representative Numbers,” in the Maine and Missouri “free colored
persons” tables. These numbers represent the total population (both free and enslaved) in each state,
adjusted according to the Three-Fifths Compromise, which was used to determine the number of
delegates that state would have in the House of Representatives. In 1821, the ratio for apportionment
was one representative per 40,000 people.

Using this information and what you know about the “Jefferson method” of apportionment, estimate
the number of delegates that Maine and Missouri would have in the House of Representatives in 1821.
Show your work.

4. Based on your calculations from question 3d, do you think the Missouri Compromise was successful in
maintaining a balance of power in Congress? (Keep in mind that both Maine and Missouri, like all other
states, were also allowed two senators in the Senate and that this designation was not dependent on
population.) Explain your answer.

5. How are the effects of the Missouri Compromise visible in data from the 1820 Census?
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STUDENT VERSION

ltem 1: 1820 Census Tables

Males Females

Males Males | Males | Males of | Females | Females | Females | Females | Representative

under 14 of 14 | of26 | 45and | under14 | of 14 and | of 26 and | of 45 and Numbers
years and and upwards years under 26 | under 45 | upwards (State Population)

under | under
26 45
170 86 91 90 168 15 126 83 298,335
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STUDENT VERSION

Item 1: 1820 Census Tables (Continued)

Males Females
Males Males of Males of Males of Females Females Females Fernales of 45
under 14 14 and 26 and 45 and under 14 of 14 and of 26 and and ubwards
years under 26 under 45 upwards years under 26 under 45 P
2,491 1,511 852 487 2,281 1,461 855 284
Males Females
Males | Males Representative
Males Numbers
under of 14 of 26 | Males of | Females | Females | Females Fernales of 45
and and 45 and under 14 | of 14 and | of 26 and )
14 and upwards (State Population)
eare under | under | upwards years under 26 | under 45
Y 26 45
93 40 36 17 62 39 34 26 62,496
CENSUS.GOV/SCHOOLS HISTORY | PAGE4



http://www.census.gov/schools

crs | £z6°1ST| 605105 YIO'TTE| SI0UL | 056'G91] BYL 0T 09YTYE|| 2T'HS| 26TTL J6EH'90%T £59'EX || 613009 e90'9t2| cog'nz| 21609 roo'aszll server| 91592 opsss2)l vsotesy Qﬁﬁu_gﬁ. - o) puam
0 969 066 s'r | 91c us 1773 ST || 81T | 2Is £58 ¥o8 e | S19T | BIST | OF9'T | 6IST | I6X'T | 68T LI || o5 o't | azze - - nguaieg Jo Pwmg
y) st 89z <6z 8L 22 95 = & 6L ase {4¢ oz¥ +56 6211 | 006 THT | 989 ovr vt e 596 ovs - - swveyy p Loy,
- = = - £ - - - 96T sES | 29T | 959 9% s6s ©69 sZ8 | oSTr | 609 1957 | yscr |t zst s otz - - ol o Lowssy,
8z §58 19¥T | 185 |28y | GeB ST {162 || co6'T | oy 25551 | 26¥ WE'T | c9z'y | 9205 sz |9oL's | 606T | 299 | 2ov9 Hroct ety | usor - - - - unowm
/3 82T [ 324 99 so1 621 (1734 2001 | £55 S6STI | 865 S8t | 991 | G¥BY | 810 | 856 | 1T |ssI | vz | erst B zzzy | escior - - - - saoaug
1 1z o Z e € [>4 6zz's | 6oy S1'9 | €28 120% | 600 [ SS9TT | L0L°0Y | #8925 [ 9902 | TLOVYI | 8o¥yT | 05T | vv'Dl | sves = - - *»  suepy
= = - - - a = 9T6BT | 6% | 166%11| S63°C || 6m9'cs | Les'ey | Zoc'es | so1'¥ | 950'001( 959'IE | Gov¥s | s00ss [ 2097t | semey | eeorrrr| - - - - omo
S| LRI | 20¥2T | TSSES | 69S% | #%6°0T | SCIUT | s9%'1c || 62ty | 219t | 1or%er| &5 662'05 | £e¥'es | S06'TF | 0SS | 1492 | 9515 | 821°8C | 8221y | £8SOT || yoo'er | oso're - - - Lxommay
02 | ST | £C1MT | ISG'SE | 6I8% | 6369 | B2001 | 51506 || 0982 | cB® 616°101 ] T1S 859°ST | 1562 | 695'1€ | 0222z | 6T¥°co | 0RLBY | 6%E45 | waoic || cevs | z6vme | ovsse * - - eIuma),
05T | BSXZ | IOTT | SOLTT | c6vC | ocsol | 928%01 | €911 || o | ecY | we'es (S0 [ zor's | sevs {soze |emvs | ovorr |y |9serr | 2w | sore Jowy |aen & - - wavmmoT
26 90€T | l08% | 2299 | <t | 190t [ 008'F | 910% § osy ¥65 £00'%5 | 181 988t {201 | 182t | ouT |0z’ | 965 | OITS | 095y | oot {] orze | vore & - - 1ddmemeryy
0T | 62T [ TR19 | 0F1% | cest {005 | cos9 [999% {{ susr | gev o¥9%0e | o1 $68'c | <o99 | o662 | 6859 [oIssr | $00% | 5506 |[sct's } osZzT { 1859 | sorur - - - B
00 | TEOTT | 6481 | IFIGS | 569 | 6¥59T | THE6T § $05°TS || 285 | ss1% | sertron) cov 170°%6 | coc'st | z3o'8T | 2561 | 221ce | 09801 | #2841 { cev'st {{ ST’y {f ovier | wevisc = - - -  wuimog
SCST | 065%65 | 790°TS | SOSBY | Z1v%Y | soa'0s | ¥8%°1S | 9¥ses [l seve | essT | 0osttor| €051 || ses%o | 2050z | ost'sc | soc'Br | ve'sS | seser | 82515 | #st'ss || sasts |l szt |ty {arqerry 1d39x2) wnors mnog
56 | GETBY | £99'cs | C20%F | YE2'01 | S656T | VISIT | FI6®Y [} $HEIL | ISST | 961%L1| STH €SI'SG | 69085 , £5GTY | 101°CS | B660L | £59%5C | ¥o59¢ | 2zs'ee (i 8726 || zisTs | sevss - - -~ wemaR) QUoN
275 | 169'0F | 22618 | B9FT6 | #9T°H | @e¥'e¥ | TRLTS | 19806 |f octTr | 60y | cxvess| a1 || osefse | ce6'ss | 11v29 | 992'5¥ | cov'ss | s3a'BT | 86825 | tos'ss | e¥1Tx || zessy | postsor) - - - wonfny
o6 1296 | SO¥SL | ORLTE | £209 | BLLOT | 9F8FT | 952%C || 0%9'8T | 2% | ser'sl | o8 || zos'sT | secioz | cexiiz | ass'6l | 4cwBS [ 00691 | 916'%c | 0895 | 192y ] 2569 | 11Ty ¥ = - panioegy
1 £ 113 626 £5T Fia 68 T | 128% | £o% 65T°CE | 15T 66z°c | o5 | o5 | gy | zeo'8 | oost {209 | o1s't [ errT | awy | 1i0% = - - srenway
8 9t & € £9 24 E €109 | £B0°Z | TOROFI| 82201 || &65'65 | s¥c's6 | $03°TOT] So¥92 | 012091 S6¥%9 | 3126 | osszot|| 1065z | oso'zs | 1stissy - - - s lansagy
9 9507 | €851 | G6S 839 416 8T | 098 1#6'ST | 058°T | 218’0y | 63T |i c00'8T | o9 | 2093 | %0S'6T | 126%6S | £S5BT | 81v%5 | 6599z || 9s6's || ozs's1 | ssozy - - - Lxmr Mo
18 90T jesst {391 {129 (2> 29T | 1987 [l 82009 | £11'6 | 8¥9%uia| T0T'ST || 58562 | 668651 c6+'CST| ¥06°101| £1S91G| 65218 | +29'8E1 £52Ger | 865%5 (| Z6z501| s00'nzz| - - - X005 MY
= - - - - = = Y8 |ou 15605 | S€6 9SB'ST | £89°Cs | S1L%G | 22591 | 25€°6C | 681°0T | €20Tn | 261%z | 0os's ! 19zt | sos'ss & L E L A
v £T - - ¥ 1 - B 15721 | 185 | 8165 | 995 85 | 650'6C | 50045 | ©€8'6L | 685SE | #18°15 | TS95E | o8z ) 1859 || ze9'oz | evevc = - c IIRLTOY
z s € z ¥t T T s 1609 | 91T | 65551 | 202 2512 | 1ss'r | sov'e |69l | 21601 | ees’s | 8192 |{oac’s |l 201 {f coss | ogyrr = = - PUEIN] 3PORH
= - - - - - - sor'ce | T0S'eT | 09v'e9 | sore 21°9F | 12225 | S08°T5 | 80S8C | 09T'69 | 899°8S | ¥I¥IS | 0056y || zis'or |} czs%c | ose0z # # = SROYTTTE
- = - - - - - 6698 | 890°T | #8S%s | 151 STG'6T | 26255 | 908G | 668°ST | 665°¥S | SIF'ET | 0565 | sor%z || 6ass || zzo'61 | merss = o - ougsdormy aay
. # - - - - - - S¥9% | 265 | 100%s | oso'T |l 2zc'6T | sve'ss | ces0s | ces'ts | c9s'or | a1l | 2wl | osses || ovre ] sase | z1zsw = b & o IuITR
Ay v | g0 |51 [y | svya | cam [ nna gy | cvor oz | ot [ 0T {"R%EF| ¢y @ |ozegifigroigIf o1 | g @
Z = m m : ® s 3 m 2 2 3 gs w,mn.m W..Mm g : Wﬁ muwm n...w & i 5 mn ‘SATHOLTAYIL ANV SLLVLS
|l g ¢ £ El el sl Folssz) B3 | - | g5| 25| EEp EQ = %
5 B 3 g B g = s | & 27| ¥F| BE| = g | B3| BE| s2f 3 £l z
ccaavs m 2 3 *STTVICII AITHM FT8d STTVI ALTHM TadI

*21e1§ Jo juouniieda(] oY) 18 pasladal suInal woay poidwods (1Z8T ‘Yodely JO PS 9Y3 JO 108 oY) PUE ‘078 ‘YIIBIY JO
W1 oY) Jo ss2aSU0)) 30 198 9Y1 JO SMIUIA UT USYE] SNSUI)) 9] 01 SUIp.100de aﬂ%m&@hm&&%@ 1197} pue GAFHFS LBFIULD oY1 ut suosiad jo wondriossp yoes jo juncws N@W@Q&Q@Hm

(PoNURUOD) S|qe SNsUa) 08l L Way

| PAGES

HISTORY

CENSUS.GOV/SCHOOLS


http://www.census.gov/schools

"BUIJUO 3]qb] [puUIbLIO 8Yy) MaIA 0] (3uswindop [puiblio ay) Jo 8] 9bbd) 4(1d 9yl 0 G 8bbd 01 21pbIADU puD 8A0GD MUl| Y] UO 21|
Jpd'z0-p0Z81,/59|9b1,/010p /0Z8L/|PIUuUad8p /sAaAins-swbibold /A0b snsuad*zmmm

$E2%09% | 109y | £288% | 914G | ¥8I8z | 698'sY | 985'LT | OF'E | stoYs | V9L | GOT'OL | E26°IST| 605°10G] ¥I0'SSE| 1042 | 056591 ﬁ 8YET05} 09Y'TYE|| 230'6¥S| LoTns To‘ﬁ
3 S
650°CE = T6S b3 (327 «°s 88C 6trc 8T %L e 98 066 [ o0 S ) {4 9 1773 ST || 181% | 215 o8
TLGHT 8T ] T € 8 G 1 T L1 [¥3 Pizd 9% 6T [-73 [x24 9245 88 [334 6L £19%
9628 (x4 14 9t [ [ -4 n & e 27 - - = - # - - - 96T z8e 29T
96YT9 98599 |65 % *© [ 9 2 9c or £6 T 558 1991 | 1855 | 287 (3] ST | 162 || co6'T | sov 255y
oY8Ys Tigss | 6v = ¥ os 0T 74 >3 73 98 1€ h93 821 [114 29 {218 621 73 2001 | £5 S65%
ZOTLFL 12T - 9 05T 21 1T 6 ™ orT sz or % 1z oy & 1w pi3 [> 4 6zz's | 6y SIST
01185 yov'ies | 651 [ 99 615 166 SIS % e 2501 = ® & - - = = = 9c6'8T | 65+T | 166%
freci i3 21g%9s | &8 08% G $55 74 22 i 185 217 625¥ | T08°IT | 20¥2T | TSS6S | 695 | #%6%0T | STIUT | 6931e || 6oy | 219'T | 191G
692065 SISy | TS o o o fea g 85T oS £zt 002 ¥9£T | TSI | £o1MT | 1SG'6L | 98T | 6369 | 22001 | 51505 || 0982 | zae 616°1
642521 o¥esT | 18% 78 22877 | 2851 | 605G | ¥ £16 98 8¥T | 50T | 8S2L | oloTT | £9LT | co¥c | occor | 9801 { €291 | 109 | 1659 | 1es
[axad 8¥¥SL b 65 ¥ s 1® BS [ <] 28 25 90sc | f08% [ 229% |cua't {190t | 008'F | 910% { os9 $62 £50°'z
£SO 106251 - §e 85 69 16 6% 9 8 811 650l | 612t | 119 | o#1's | oevt {00y | €959 [£99% Il st | zew T
951183 860 | ¥ 39 $61 60G 6¥S S 08T S61 ose 6300 | TLOCT | G481 | IFIGS | Go6'9 | 6¥GOT | THSGL § 40T || 285% | 651 | surt
65685 605°06F - 99 22 [ $61'1 | 55 69 612 2ST'T | 0SS'ST | 06865 | $90°TS | S9CBF | Z1v'vy | 80805 | ¥811S | ove0s | seve | sasT | oos
158958 658859 ® 900t | s¥e'i {2021 (&€ | SFI'T |e01'r |eaLT | SIFT | 22¥6 | 9GSBY | c99'cs | £20%F | YOL'0r | £65°6Y | VIS | FISRY f £4E°IT | 1557 | 961
205568 995907 | 055 cec'c | ozt sy pores |seo'c | sort |asec | s¥T8 | evs1c | 1690F | a26“1s | 89¥%Gs | ¥or'cs | esyey | 1asTE | 19896 i occTe | sacy | zzr
63579C o391 4 = F16T |2y [ 1o¥F | Zo8L [ 895'C |o9s2c |geS'c | 6T8L | 028 | 296 | SOFSI | 0RLGo | s20% | B1L0T | 9F8FT | 952%C || 0%0RT | 122% | sor
CH604 6VITL - 1507 | Z0S°t | e2ST | OWLT | o511 {u05'Y | 21T | ZI8T | IS % 119 628 se1 288 68 T || 128G | g% 7>
SIC6Y0"T | 865°610°T | TS6°T | 2621 | £20'% | co0'y jeo¥s | 005°T | ogs'c | e¥ce | 999% |8 9g & 13 £9 2 1 ¢ 1509 | £80°2 | 108%
155525 SISUT | 6% 994 186 861°T | €605 | 88 60T | oTI'T | 83T | 959 9501 | €85 | G6S 859 416 gt | 098 1#6°ST | 0S8°T | 218%
s22/995't | z18TC"T | 102 8s1T | 95IY | s61¥ |oc's 06T | 2’ | II0%T | Z61%F | GIB 90T | 68T | ¥9CT {129 ©%6 329t | 198°T [l 85009 | s11%6 | 8%9%
94'55T ro2'sss | ST L 16 sat 021 [ ] 6 a3 [<74 o = - - - - = L £¥8 | 9L TS6
808545 8i5%S4c | 00T 529 056 196 T | 659 s98 26 sy |2y £T 2 - % st b ST | 188°C | 81¢%
BEUCR 650°C8 124 &Y soF £z5 (39 628 24 88¢ us k=g € € s T T X 4 1609 | ZOI‘T | 655%
28%'628 85'szs | 8ot 182 06 :V7) 696 49 968 089 S80°'T o = e - - - - . $OF°EC | T0S'CT | 097
1STHE 19142 | 65T oot 501 66 601 &8 58 10T 6 - - ¥ & - - - - 6698 | B9OT | #85%
SSEB6L ses868 | 99 £8 93T 34 891 06 16 98 01 = ® - - - - - - 9% | 268 | 100%
SREY] ST O 9z 93 310 |O9SH | sY O3 9 93 $1 0 |99 %y| sy o3 9z 91 1 01 | 9% oy sy o3 S a L4 1

4 g et #{ #| 5| 5§\ E| E| E|E|. 2| Bl 2| 8|8 | By ElElz=x]|z2]|z¢=

£ = s | =2 | g2 |2 | & T g3 | 23] 7 |z | g2 |2} £ g | g5 zz | ¢ £ 3

g z $ | EF | <€z |3 | ¢ s |22 | 22| z |E5 |25 )zsz ] ¢ s t2c|ac | = g 3 Y

-1 £ I D = == == E = == & = == =5 = ° e -

£ E 1z s | 2|32 £ | § |5z]2! 2 S|P E |8 |Fe 2| E 5|5 |3

= Z 4 = | X k2 a = i ) ~1 "% £ 5 < ‘8 ¥E = 3 3 3

2 5 E g 2 3 = > g 2 H 5 2 S > 2 < z 2 g S g

£ o = < =< a 5 " - 8 2 = = & 5 s > 5 -4 2 z S

3 a 2 > £ 2 S z E = 2 = = g € z = = 2 3 s a

z s H H =1 =1 2 2 = 2 | 2 H 3 = | 2 £ . | 2 5 & g

g E 2| 2| | ElZlg | 2| |l g oz 8| Bl 2| E| Els S|4 ¢

& = S £ g 5 £ E = H & £ g * £ £ 3 = i =

H £ = Z ) 1 zZ 2 £ = z £ 5 Z Z 8 g = =3

= = = = e b Fy I3 = = o a8 = i) = 1.9y <

" H v " - - - - . - ~ Al b WHJ m ,m..n.

m. W CAXITXIE “STITX TEYITVXIL "SXTYX IMo W N

5 3 s 3 £

3 z | oz g

g ‘SX0S¥Fd IYOTOO AFEI ‘SIAVIS 3 2

-2121g Jo juaunteda(] 241 Te PaATedal suinjax wolf penidwos L1581 ‘YoaBly JO PE oY1 JO 19® 9Y) PUE ‘0ZST ‘YIIB JO

‘SAHOLIBYUIL ANY SILVLS

|y] o Jo ss2aSu0) Jo 19 31 JO SMIIA UT UINe] SNSUI) 911 01 SuIp.10doe a@@w@@ﬁw%&%@ 1197} pue GIFLEIS HEFIULD oY1 ur suosiad Jo wondriossp yoes jo junowrs Frga ik Ravdig

(PaNURUOD) SRIRL SNSUR) 078 L Wal

| PAGE6

HISTORY

CENSUS.GOV/SCHOOLS


http://www.census.gov/schools
https://www2.census.gov/programs-surveys/decennial/1820/data/tables/1820a-02.pdf



